A 3 RA 4 AL S BIY 110 £ 8 5 - F W HAT S HRP

B ._L az— =1 A =) . 7J( 3
w| & * HIE lES 2 N ¥ 1
n
P
L]
B
9 |w LR v R e mimE AR E R # | (e) i g4 .5
1| K |HeHRTSS-CAS) 28003 L0 EFA(EIF)  10Kg|HTEFAH(CAS) 12Kg |4 #RHI(CAS)  2Kg| F* 121.5| 2 & ¢ i .3
22 A - 3(E |/ N=F IS 6Kg | BEH2 M (CAS) 12Kg | {47 TR R IMH) U4k 245 7597 (g) PR .4
p i) 0.2Kg [FERBALUNAF ) 4Kg [#HEEE 4% 2Kg |/VINEEE-Y) 1Kg 28.9| g 3
5 SRR T 2Kg | KFRGFEAR)  0.3Kg|ignkas 1Kg ()| k%% 0
2} FNEKSS 1.3Kg Jr sk 0.3Kg 46.5| i 1
= EHEEE) 4R 1.3Kg BE(LH)
% R 0.3Kg 932.1
280
9|3 YR A Ak E T N ES T A% 4508 mEAT(2) EREE .5
1| B |RAWIRQ)  280F |/NFUIIUT R 12Kg 4R T (T EERE)  23Kg SRR T 10Kg 105.5| 2 4 ¢ 34 3
23 | AR |G T 3Kg |4 7Kg [RE 4% 1Kg [&$14k 2Kg 5 95(g) FEA .6
P I 0.3Kg [F4IMIkE T (CAS)  6Kg |dHZE &%k 1Kg |5&5 (RHE) 2Kg 21.5 s .9
% B4 0.3Kg [ E-& 3 [ PIE: 1Kg | B4 0.2Kg 0 F(2)| k% 0
o AR 2/ | KFr(FRR) 0.3Kg 35.6| muE
= L 0.2Kg BE(LH)
% 1 757.9
280
9 (@ PEREHL N WEFE R pa(g) | 8% 6
v F | BBECERE T CAS) 24Kg % (k) 16K g |ZEE(Z=2 03 VI EY) 20Kg |81 b T 12Kg 95.5(2 4 ¢ 32¢ .3
24 | B DT 6Kg | FRAR(I) IKg [ RFr(FeAR)  0.3Kg| BRI () 2Kg 997(g) FEEH -1
p JHZLRT-E 3K L | F Rk 0.3Kg IR (300g) 16 24.9| W e 3
5 T OL-ST/R) 1 £ 0.6Kg 35 ()| kwa 0
ﬁP %@Eﬁ*ﬂjﬁj— 1Kg =i 4',%; 0.3Kg 36 2 ﬁﬁé\ﬁ
El E)%E%"Ek O3Kg ’,—{t:‘l"?i(”‘ +)
% 750. 9
280

WY e TRg Sk ¢ 04-8613339 {HE : 04-8613336
KAFHpp Y WAL ERE
w3 EX IS HE



